G =~ PSL(2,11) : C2,p = 11

Normalizers Ny Ny

p — subgroups of G up to conjugacy in G P, P,

Representants n; 0 (L6)(28)(3,7)(410)(5,11)(9,12) (L,7)(2,6)(3,11)(4,9)(5,8) (1,2,3)(4,5,6)(7,9,10)(8,11,12) (1,9,6,12)(2,3,8,7)(4,5,10,11) (1,8,6,9,3)(2,4,11,7,5) (1,9,8,3,6)(2,7,4,5,11) (1,10,7,5,12,8)(2,9,11,3,4,6) (1,4,8,11,6,7,9,5,3,2) (1,11,9,2,8,7,3,4,6,5) (1,9,5,6,4,8,3,11, 10,2, 12,7) (1,8,12,6,10,9,3,7,4,2,5,11) 0 (2,3)(4,6)(7,12)(8,10)(9,11) (2,3,5,8,6)(4,12,10,7,11) (2,3,11,6,12)(4,8,5,9,10) (2, 3 ,4 9)(5,10,6,8,11) (2,3,4,10,5)(6,9,12,8,7) (2,9,8,7,4,3,11,10,12,6) (2,3,10,12,11,8,9,5,6,7) (2,3,12,4,5,11,10,9,7,8) (2,3,8,12,6,5,7,9,4, 11)
Representants m; O (1,6)(2,8)(3,7)(4,10)(5,11)(9,12) (1,7)(2,6)(3,11)(4,9)(5,8) (1,2,3)(4,5,6)(7,9,10)(8,11,12) (1,9,6,12)(2,3,8,7)(4,5,10,11) (1,8,6,9,3)(2,4,11,7,5) (1,9,8,3,6)(2,7,4,5,11) (1,10,7,5,12,8)(2,9,11,3,4,6) (1,4,8,11,6,7,9,5,3,2) (1,11,9,2,8,7,3,4,6,5) (1,9,5,6,4,8,3,11,10,2,12,7) (1,8,12,6,10,9,3,7,4,2,5,11) O (L6)(27)3,8)(49(5,10)  (1,3,5,7,9)(2,4,6,8,10)  (1,5,9,3,7)(2,6,10,4,8)  (1,7,3,9,5)(2,8,4,10,6)  (1,9,7,5,3)(2,10,8,6,4)  (1,2,3,4,5,6,7,8,9,10)  (1,4,7,10,3,6,9,2,5,8) _ (1,8,5,2,9,6,3,10,7,4)  (1,10,9,8,7,6,5,4,3,2)
T-x1+0-x2+0-x34+0-xa+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13 | 11 3 1 2 1 1 1 0 1 1 —E(12) 4—E(12) 7T—E(12) 8+ E(12)° 11 —E(12) 4+ E(12) 7—E(12) 8—E(12)° 11| 0 0 0 0 0 0 0 0 0 0

O x14+1-x240-x3+0-xa+0-x54+0-X6+1-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x15 | 11 3 -1 2 ~1 1 1 0 ~1 ~1 E(12) 4+ E(12) 7T+ E(12)° 8 — E(12)°11  E(12)4— E(12) 7+ E(12)° 8+ E(12°11 | 0 0 0 0 0 0 0 0 0 0

0- X140 x2+0-x3+0-xa+1-X54+0 x6+0-x7+0-xs+0-Xo+1Y10+0-x11+0"x12+0-x13 | 22 —2 2 1 —2 E(5) + E(5) 4 E(GY 2+ E(5) 3 1 E(5Y 2+E(5) 3 E(5)+ E(5) 4 1 1 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+1-Xx3+0-X2+0-x54+0-x6+0-x7+0-xs+0-x9+0-v104+0-x11+1-yi2+0-x13 | 22 -2 —2 1 2 E(5) + E(5) 4 E(Y 2+ E()3 1 —E(5Y2-EG) 3 —E(5) — E(5) 4 ~1 ~1 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+1-xa+0-x54+0-x6+0-x74+0-x8+0-x0+0-x10+1-x11+0-x12+0-x13 |22 2 -2 -2 0 E(B)Y 2+ E(5)3 EGB)+E(B) 4 2 —E(5) — E(5) 4 —E(B)2-E(B)3 0 0 0 0 0 0 0 0 0 0 0 0
O0-x1+0-x24+0-x3+1-xa+0-x54+0-x6+0-x7+0-x3+0-x90+0-x10+0-x11+0-x12+1-x13]| 22 2 2 -2 0 E(B) 2+ E((B)3 EGB)+E(B) 4 2 E(5)+E(5)A4 E(5)” 2+E(5) 3 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+1-x5+0-x6+0-x7+0-xs+0-x9+0-x10+1-x11+0-x12+0-x13 | 22 -2 -2 1 —2 E(B) 24+ E(5)3 E(5)+ E(5) 4 1 —E(5) - E(5) 4 —E()2-E((5) 3 1 1 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+1-x3+0-xa+0-x5+0-x64+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+1-x13 | 22 —2 2 1 2 E() 2+ E(5)3 E()+E(5) 4 1 E(5)+E(5) 4 EG) 2+ E(B) 3 -1 -1 0 0 0 0 0 0 0 0 0 0
0-x1+0-Xa40-x54+0-xa+0-Xs5+1-x6+0-x7+0-xs+0-x0+0-X10+0-x11+1-X12+0- x13 | 22 2 —2 1 0 E(5) + E(5) 4 E(GY 2+ E(5)3 ~1 —E(572-E(5)3 —E(5)— E(5) 4 —E(12)° 7+ E(12)" 11 E(12)°7— E(12)" 11 0 0 0 0 0 0 0 0 0 0

0 X140 x2+0-x3+0 xa+0-X54+0-X6+1-x7+0-xs+0-Yo+1 x10+0-x11+0-x12+0"x13 | 22 2 2 1 0 E(5)+ E(5) 4 EGY 2+ E(G) 3 ~1 EGY 2+ E(GY 3 E(5) + E(5) 4 E(12)7— BE(12)" 11 —E(12) 7T+ E(12) 11 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+1-x8+0-x90+0-x10+0-x11+0-x12+0-x13| 11 -1 1 -1 -1 1 1 -1 1 1 -1 -1 0 0 0 0 0 0 0 0 0 0
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+1-x90+0-x10+0-x11+0-x12+0-x13 | 11 -1 -1 -1 1 1 1 -1 -1 -1 1 1 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13| 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
O-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xg+0-x9+0-X10+0-x11+0-x12+0-x13| 1 1 -1 1 -1 1 1 1 -1 -1 -1 -1 1 -1 1 1 1 1 -1 -1 -1 -1
0-x1+0-x2+0-x3+0-Xa+0-x5+0-x6+0-x7+0-xs+0-Xx9+0-x10+1-Xx11+0-x12+0-x13 | 12 0 -2 0 0 E(G) 2+ E(G) E(5)+ E(5) 4 0 —E() - E(G) 4 —E(B)2-E(5)3 0 0 1 —1 E() 4 E(5)"3 E(5)"2 E(5) —E(5)"2 —E(5) —E(5) 4 —E(5)"3
0-x1+0-x2+0-Xx3+0-Xa+0-x5+0-x6+0-x7+0-Xxs+0-Xo+0-x10+1-Xx11+0-x12+0-x13 | 12 0 -2 0 0 EG)2+E(5) 3 E(®)+ E(5) 4 0 —E() - E(G) 4 —E(G)2-E(5)3 0 0 1 -1 E(5) E(5) 2 E(5)"3 E(5) 4 —E(5)"3 —E(5) 4 —E(5) —E(5)"2
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+1-x10+0-x11+0-x12+0-x13 |12 0 2 0 0 E(5) + (5)A4 E() 24+ E()3 0 E() 24+ E(5)3 EGB)+E(B) 4 0 0 1 1 E()3 E(5) E(5) 4 E(5) 2 E(5) 4 E(5) 2 E(B) 3 E(5)
0-X14+0-X2+0-x3+0-xs40-X54+0-x6+0-x7+0-xs+0-Xo+1-x10+0-x11+0-x12+0-x13 | 12 0 2 0 0 E(5) + E(5) 4 E(GY 2+ E(G) 3 0 E(GY 2+ E(5)3 E(5)+ E(5) 4 0 0 1 1 E(5) 2 E(5) 4 BE(5) E(5Y 3 E(5) E(573 E(5) 2 E(5)7 4
0-X14+0-X2+0-x3+0-xa40-X54+0-x6+0-x7+0-xs+0-Xo+0-x10+0-x11+1-Xx12+0-x13 | 12 0 ) 0 0 E(5) + BE(G) 4 E(Y 2+ E()3 0 —E(Y2-E(5)3 —E(5) - E(5 4 0 0 1 -1 E(GY 3 E(5) E(GY 4 E(GY 2 —E(5) 4 —E(Y 2 —E(5) 3 —E(5)
0 X140 x2+0-x5+0-Xa+0-X54+0-X6+0-x7+0-xs+0-xo+0-X10+0-x11+1-Xx12+0-x13 | 12 0 —2 0 0 E(5)+ E(5) 4 EGY 2+ E(5)3 0 —E(572-E(5) 3 —E(5) - E(5, 4 0 0 1 ~1 E(5)2 E(5) 4 E(5) E(5Y3 —E(5) —E(573 —E(572 —E(5) 4
0-x1+0-x2+0-x3+0-Xa+0-x5+0-x6+0-x7+0-xs+0-X9+0-x10+0-x11+0-x12+1-x13 | 12 0 2 0 0 E(B) 2+ E(5)3 E(5)+ E(5) 4 0 E(5)+ E(5) 4 E(B) 2+ E(5) 3 0 0 1 1 E(5) E(5)2 E(5)"3 E(5) 4 E(5)"3 E(5) 4 E(5) E(5)"2
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+1-x13 | 12 0 2 0 0 E(5)2+E(5) 3 E()+E(5) 4 0 E(B)+E(5) 4 E() 2+ E(5)3 0 0 1 1 E(5) 4 E(5)3 E(5)"2 E(5) E(5)"2 E(5) E(5) 4 E(G)3

Py = Group([()]) = 1
= Group([(2,8,12,7,10,3,4,9,5,11,6)]) = C11

Ny = Group([(3,4)(5,7)(6,8)(9, 10)(11, ),(1,2,3)(, ,6)(7,9,10)(8,11,12)]) = PSL(2,11) : C2
— Group([(2,8,12,7,10,3,4,9,5,11,6), (3,12,7,6,10,4, 11,5,8,9)]) = C11 : C10




